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QUESTION 1

What are three characteristics of B-Series (Brocade) Fabric Manager? (Choose three.) 

A. is a separate software package 

B. provides out-of-band management 

C. is embedded in the Brocade switch firmware 

D. provides in-band management 

E. multiple switch management 

F. single switch management 

Correct Answer: ABE 

 

QUESTION 2

What are two reasons for using the SAN architecture approach? (Choose two.) 

A. to simplify SAN storage infrastructure resources in a unified direction 

B. to provide business-related rationale for SAN infrastructure investment 

C. to align SAN infrastructure with business processes and priorities 

D. to minimize SAN technology transitions and establish long-term SAN standards and framework 

Correct Answer: CD 

 

QUESTION 3

What information should a SAN architecture contain? (Choose three.) 

A. SAN implementation guidelines 

B. detailed process description 

C. detailed SAN topology maps 

D. product specific information for every component in the SAN 

E. product independent information 

F. high-level process description 

Correct Answer: AEF 
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QUESTION 4

What two advantages does implementing a SAN-wide backup solution offer? (Choose two.) 

A. optimal utilization of backup resources 

B. easier management 

C. improved disk array performance 

D. optimal utilization of drive arrays 

Correct Answer: AB 

 

QUESTION 5

What is the result of merging a zoned fabric with a non-zoned fabric? 

A. Devices that were in the non-zoned fabric are not accessible until they are added into the current enabled
configuration. 

B. Devices in the fabric are not accessible until the devices in the non-zoned fabric are zoned and made part of the
effective configuration. 

C. Any devices that were in the non-zoned fabric are automatically configured into a new zone as part of the effective
configuration so they can function. 

D. The fabrics do not merge. They segment and require manual intervention. 

Correct Answer: A 
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